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AMPLIFIER

inter II PA-S35 AMPLIFIER

FEATURES

© 35W OUTPUT POWER
This model can deliver very strong 35 Watts(RMS)
output power at less than 5% T.H.D.

© VERSATILE AND CONVENIENT
3 channels of input signals from MIC 1, MIC 2(AUX 1),
MIC 3(AUX 2) provided and mixed, and call of tone is
incorporated for versatile and convenient use.

© TELEPHONE INPUT
This model has the function of telephone input to
connect with telephone system.

© MUTING FOR PRIORITY
Signal from MIC1 can be activation muting circuit which
temporarily mutes signals from other(MIC 2, MIC 3) input.
(Telephone can be mutes signals from MIC 1, MIC 2, MIC 3)

SPECIFICATIONS

O ELECTRICAL x0dB=0.775Vrms
- Rated OULPUL .....eeeeieeee e 35W(RMS)
40Q/11.8V, 8Q/16.7V, 18Q/25V, 140Q/70V

- Input Sensitivity/Impedance ....MIC Screw/T 2mV/600Q
AUX Screw/T 150mV/1kQ

Telephone Screw/T 0.775V/600Q

- Frequency Response............couveveeencennnn. 150Hz~15kHz

STUHD e Less than 5%

SSIN Better than 60dB

- Tone Control Effect........ccccoveeevieieiiiiiiiiiieeee. +10dB
O GENERAL

- Power Source..........ccccevvnine
- Power Consumption
SWEIGNT ... 4.4kg
-Dimensions ...........cc.ue.....
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